Process Observed Expected Observed

Higgs boson channel = Longitudinal = Longitudinal = Unpolarized Transverse
B(H — Z]/¢) 19x1073  (26757) x1073  24x1073 28x1073
B(H — Z(2S)) 6.6 1073  (71738) <1073  83x1073 94 x1073
B(H — J/¢]/y) 38x107* (46720 x10™*  47x107* 52x107*
B(H — % (29)]/v) 21x107% (14709 x107%  26x107% 29x10°°
B(H — %(2S)y(2S 3.0x107%  (3.37}3) x107%  3.6x107% 47x107°
B(H — Y(nS)Y(mS 35x107*  (3.670%) x107* 43 x107* 46x107*
B(H — Y(1S)Y(1S 1.7x1073  (1L770]) x1073  20x1073 22x1073
Z boson channel

B(Z — J/¥]/) 11x1077  (9.5738) x 1077 14x1077 16 x 1077
B(Z = Y(nS)Y(mS)) 39x1077  (4.0M03)x1077  49x1077 56x1077
B(Z — Y(1S)Y(1S)) 1.8x107%  (1.8700) x 107  22x107® 24x10°



